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M LX2IZRID
B N EASH AR - EADAWOILIK /MRS - D)
crel: MEAZERINH (=E =)
SA - H . SR(BH) - MPAY - BES Ofl At plE=Ll SImE=ST}
2 Rtel 2 Mot 18,569,417 11,058,885 7,510,532
= 3,010,700 1,992,500 1,018,200
s 1,234,352 1,319,571 A85,219
J| 81,908 70,000 11,908
& 1,500,911 1,284,043 216,868
Al 12,741,546 6,392,771 6,348,775
NSHRSLEH LY - A QUK LTS - NS5l 11,689,559 5,426,690 6,262,869
= 1,920,000 1,600,000 320,000
J| 11,908 0 11,908
< 472,576 316,931 155,645
Al 9,285,075 3,509,759 5,775,316
HEAESZIHA 703,019 668,172 34,847
| 11,908 0 11,908
< 178,833 178,833 0
Al 512,278 489,339 22,939
DAISINPSEERED) Fal 72,240 57,240 15,000
401 AIEHIZL 048I 60,000 45,000 15,000
01 Al&HI 60,000 45,000 15,000
O3B5AIE FXHE W] &)
15,000,000& * 14l 15,000 0 15,000
(Z)FIE 0182EAS 19,847 0 19,847
p] 1,908 0 1,908
Al 7,939 0 7,939
307 QI2t01H 19,847 0 19,847
I 11,908 0 11,908
Al 7,939 0 7,939
02 QIIHAAMHES 19,847 0 19,847
OYESTAIE ERBAMLA(HZA B1:
HEAIR 25 NFAIR(RIRETIH) " 0IA)
FEHEN AE) 19,847,000& » 14l 19,847 0 19,847
| 11,908 0 11,908
Al 7,939 0 7,939
HSAIE & NSZHELS 10,902,234 4,675,334 6,226,900
= 1,920,000 1,600,000 320,000
< 276,203 122,558 153,645
Al 8,706,031 2,962,776 5,753,255
2N U HEAZ 245 119,432 127,240 AT,808
201 2| 22,740 27,740 25,000
03 A2 5,000 10,000 /5,000
OHENT ST (FBTA A1)
Z& 5,000,0002 * 1002 5,000 10,000 /5,000
202 (44| 25,272 28,080 A2,808
01 =LHOALI 25,272 28,080 A2,808
OAMAARAZ ZQAIT AR (HAE)
A 25,272,002 25,272 28,080 ~2,808
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A XHBMELSH A - SAIHLNHX/AARE - DEF}
el MEAF U XAAMEAE (el &)
2A - HR(SH) - NISAY - BAS O AkoH J|HH Hns2
HEAE 435 NSA(2IEEXH) 9,600 17,539 A7,939
307 QI2+0|A 9,600 17,539 AT7,939
02 DIZIBAAIEE X 9,600 17,539 27,939
OY=2SAE FXEHNEAMS (MPAY BE:
"(2)FEE 0IBSEBZAY'SZ) 33 o 0 7,939 A7,939
A AEA g 2 2Y 883,796 591,439 292,357
201 23| 428,077 275,720 152,357
01 Ar22t2ldl 428,077 275,720 152,357
OgFAE AZH 2el2d 14,000 11,000 3,000
—&EZdH S HE 33 4,000,000 4,000 1,000 3,000
OXIZAl AZH HD| HIE(2019, 2020 i) 5,357 0 5,357
—A&ZH +H HI2 55,000& * 29004 1,595 0 1,595
—&EA HOI HIE 660,000& * 5.7& 3,762 0 3,762
OgF:AtZ AZA(XBA) =22 408,720 264,720 144,000
—(21HLHB)AEA B =4S (SSI1H)
& & 30,000,000,000& = 0.6% 180,000 120,000 60,000
— (1L )NEA BN =22(380|2)
&3 30,000,000,000& * 0.6% 180,000 120,000 60,000
—(QIELHE) ABH BN +42 (T
CHEHSHAI) 43 4,080,000,000& * 0.6% 24,480 480 24,000
308 AXISHHMSOIN 420,839 280,839 140,000
11 S| 2SHUSHE A X AE ARSI 420,839 280,839 140,000
OYZAMY MEA(NFA) M
434 330,000,000 330,000 220,000 110,000
OYFAIY ASAH(20IY) Za
&3 20,000,000,000& * 0.3% 60,000 30,000 30,000
()N SAA B L& x| 5,000,000 3,000,000 2,000,000
= 1,920,000 1,600,000 320,000
= 144,000 120,000 24,000
Al 2,936,000 1,280,000 1,656,000
301 LEtENZ 5,000,000 3,000,000 2,000,000
= 1,920,000 1,600,000 320,000
T 144,000 120,000 24,000
Al 2,936,000 1,280,000 1,656,000
12 JIEIE &S 5,000,000 3,000,000 2,000,000
OG=AtE AZH &0l BN
43 4,880,000,000& 4,880,000 3,000,000 1,880,000
= 1,920,000 1,600,000 320,000
T 144,000 120,000 24,000
Al 2,816,000 1,280,000 1,536,000
OY=Atg A2 &0 BF (A2 SEAY)
120,000,000& * 14! 120,000 0 120,000
(S)HSAIE STHSH XIS AR 8,206 5,116 3,090
T 4,103 2,558 1,545
Al 4,103 2,558 1,545
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S - T B2I(31) - ARAIY - BAS 0 st p[E<El HlRE2
301 YBHFES 8,206 5,116 3,000
= 4,103 2,558 1,545
Al 4,103 2,558 1,545
12 JIErSA3 8,206 5,116 3,000
OFEAIE BUZH MAIL
A 8,206,002 8,206 5,116 3,000
= 4,103 2,558 1,545
Al 4,103 2,558 1,545
D2RUHY SHAT FMSAIE U AFI} YA 80,000 0 80,000
201 B2Y| 80,000 0 80,000
01 AF= el 80,000 0 80,000
OFSAIY L AED} gojas
1,250,008 * 643! 80,000 0 80,000
ANBODIEALERIAAY 419,000 0 419,000
308 KXISHHISOI® 419,000 0 419,000
11 2 AU B AR ASAISH] 419,000 0 419,000
OANBOI JHCH42 KA
419,000,008 * 14! 419,000 0 419,000
YFEAl AMTO BTUHLY 2= 350,000 0 350,000
307 2120 & 350,000 0 350,000
05 IRISIErS 350,000 0 350,000
OYZAl 24T BTpY 2=
350,000,008 * 141 350,000 0 350,000
(2)2TA=STAME 75 A 2,863,000 0 2,863,000
401 AlZHI LS TH| 363,000 0 363,000
01 AIZE] 363,000 0 363,000
OABOl SBAME 25 LRI04
363,000,008 * 141 363,000 0 363,000
403 TXIHHS X201 E 2,500,000 0 2,500,000
02 SO ASHHE =R A AISH] 2,500,000 0 2,500,000
OABOl SBNAME 2=
2,500,000,0008 * 141 2,500,000 0 2,500,000
(S)UIOIH 43 HEAZ 2210l BHE AL 42,000 0 42,000
= 31,500 0 31,500
Al 10,500 0 0,500
307 21201 & 42,000 0 42,000
< 31,500 0 31,500
Al 10,500 0 10,500
02 SIS AAREE 42,000 0 42,000
OSUAIE H2I| A 16,500,000 * 141 16,500 0 16,500
< 16,500 0 16,500
OF2MhS Al 25,500,000 * 141 25,500 0 25,500
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B N A EASH AR - EAILWOILIK/MATE - D)
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SA - H . SR(BH) - MPAY - BES Ofl Ak oA plE<Ll AImE=ST
< 15,000 0 15,000
Al 10,500 0 10,500
(Z)2&E00 Bt XX ALY 193,200 0 193,200
= 96,600 0 96,600
Al 9,600 0 96,600
308 XXIEHXISOIH 193,200 0 193,200
= 96,600 0 96,600
Al 96,600 0 96,600
11 BJ 2SS0 UEHE & AE A 193,200 0 193,200
OALZO MBI HIOIKIY Al
276,000,0002 * 14! « 70/100 193,200 0 193,200
= 96,600 0 96,600
Al 96,600 0 96,600
S EERES 84,306 83, 184 1,122
= 17,540 15,540 2,000
Al 66,766 67,644 A878
Sorzel 17,506 18,384 AB78
201 LEH2| 7,906 8,784 N878
01 At22teld] 7,906 8,784 N878
OSIMHHFINE o ARG & 2S04
) Z2& 1,782,000 1,782 2,660 AB78
GEENETEE 2,000 0 2,000
= 2,000 0 2,000
201 2Et2&H| 2,000 0 2,000
= 2,000 0 2,000
01 At22teld] 2,000 0 2,000
OJIAEAIR 2I8t B2 222 R
20021 10,0000 2,000 0 2,000
= 2,000 0 2,000
=322 L HNAMH (A =X/ = S) 4,340,371 3,869,055 471,316
= 930,700 392,500 538,200
s 1,234,352 1,319,571 285,219
S 530,418 532,195 A1, TT7
Al 1,644,901 1,624,789 20,112
SE22 & HYOHH 4,340,371 3,869,055 471,316
= 930,700 392,500 538,200
s 1,234,352 1,319,571 285,219
= 530,418 532,195 N1, TT7
Al 1,644,901 1,624,789 20,112
o) o meiory K| 18,565 19,585 A1,020
201 LBt2H| 13,885 14,385 A500
03 Ar2EH| 4,500 5,000 A500
OBAZHBIT ADS (L)
Z2& 4,500,000& 4,500 5,000 A500
301 LEBHS 4,680 5,200 AB520




A

M3 2D22 o N (MBS =)
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CEYSEEE 4,680 5,200 2520
OBEFMBOIX 2 (04E) 4,680 5,200 A520
—BARMEOT 3o BT 24
2% 630,002 630 700 ATO
— BT YAIRAL2HS Al X
A 4,050,002 4,060 4,500 A450
CHSHY OFZBIOIE Xi Abe] 39,638 18,138 21,500
101 Q1248] 39,638 18,138 21,500
TRV = =B 39,638 18,138 21,500
OCHetA OFZHI0IE TIRAI
A7 39,638,002 29,638 18,138 21,500
(2)ABIEI AROHZ | KIRAIS 132,000 70,000 62,000
2 92,400 49,000 43,400
= 11,880 6,300 5,580
Al 27,720 14,700 13,020
307 RI2H0IH 132,000 70,000 62,000
2 9,400 49,000 43,400
= 11,880 6,300 5,580
Al 27,720 14,700 13,020
02 ERIFMAIHER 132,000 70,000 62,000
OAIBI=II AR K2
23 132,000,002 132,000 70,000 62,000
2 92,400 49,000 43,400
= 11,880 6,300 5,580
Al 27,720 14,700 13,020
(2)NALAAES X2 BN 100,500 0 100,500
bl 9,200 0 90,200
Al 10,300 0 10,300
307 BIRI0IH 100,500 0 100,500
bl 9,200 0 90,200
Al 10,300 0 10,300
02 ERIFNAIEEE 100,500 0 100,500
ONAMSUES AN2IHE N5
SEF AE) 100,500, 0008 * 14! 100,500 0 100,500
bl 9,200 0 90,200
Al 10,300 0 10,300
(2)AEIZDILE LR FEAY 1,200,800 1,374,000 A173,200
bl 900,600 1,080,500 A129,900
< 90,060 03,050 A12,990
Al 210,140 240,450 £30,310
307 RI2H0IH 1,200,800 1,374,000 A173,200
bl 900,600 1,080,500 A129,900
= 90,060 03,050 A12,990
Al 210,140 240,450 £30,310
02 ERIFMAIEER 1,200,800 1,374,000 A173,200
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Fas 900,600 1,030,500 A129,900
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(£)2222A 163,296 166,500 6,7%
= 14,140 7,344 6,796
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101 @124 156,796 150,000 6,796
= 12,840 6,044 6,796
Al 143,956 143,956 0
04 D122 HEE 156,796 150,000 6,796
OZTIZAIY HOIK Y2 L 402E
A 156,796, 0002 156,796 150,000 6,7%
= 12,840 6,044 6,7%
Al 143,956 143,956 0
(2)3le=22 X2 549,778 0 549,778
= 494,800 0 494,800
S 16,493 0 16,493
Al 38,485 0 38,485
101 1244 529,028 0 529,028
= 476,125 0 476,125
< 15,870 0 15,870
Al 37,033 0 37,033
04 JIZIH2Z2HEE 529,028 0 529,028
Corel HotgeERiA ATING HOX 23
L ANSE (MEUA) 351,250,000& = 14! 351,250 0 351,250
= 316,125 0 316,125
< 10,537 0 10,537
Al 24,588 0 24,588
Coo21 TSiE2iZaiA LX2IAY EOIT 23
2 AR (UATES XR)
177,778,000& * 14! 177,778 0 177,778
= 160,000 0 160,000
= 5,333 0 5,333
Al 12,445 0 12,445
201 LEt2EH| 750 0 750
= 675 0 675
= 23 0 23
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01 AtR2teld] 750 0 750
02021 NIHEHBAA AT2INY B B0t
RI= 750,000 * 14] 750 0 750
= 675 0 675
< 23 0 23
Al 52 0 52
206 M=z 4| 20,000 0 20,000
= 18,000 0 18,000
= 600 0 600
Al 1,400 0 1,400
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01 THEH| 20,000 0 20,000
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= 300 0 300
Al 700 0 700
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(BABE RI) 10,000,002 * 14] 10,000 0 0,000
3 9,000 0 9,000
= 300 0 300
Al 700 0 700
()T AL HAT2I A 93,962 225,000 A131,088
2 46,981 112,500 265,519
= 14,004 33,750 £19,656
Al 30,887 78,750 745,863
101 e121b| 90,000 206,000 A116,000
2 45,000 103,000 A58,000
= 13,500 30,900 AN7,400
Al 31,500 72,100 40,600
USIEEEU=TEES 90,000 206,000 A116,000
OTI e RN (@O 212 3 AU
& 90,000,002 90,000 206,000 A116,000
2 45,000 103,000 58,000
= 13,500 30,900 A17,400
Al 31,500 72,100 240,600
206 THEH| 3,962 9,000 ~15,038
2 1,981 9,500 AT7,519
= 594 2,850 £2,256
Al 1,387 6,650 75,263
01 HEH] 3,962 9,000 ~15,038
OV EEEEHENETG T
25 3,962,002 3,062 19,000 A15,038
2 1,981 9,500 AT7,519
= 594 2,850 £2,256
Al 1,387 6,650 75,263
(2)ZUHSNAME Z=S SIst DBMHIA 2S5t 27,000 0 27,000
NENE
2 20,000 0 20,000
= 2,000 0 2,000
Al 5,000 0 5,000
307 21201 F 27,000 0 27,000
2 20,000 0 20,000
= 2,000 0 2,000
Al 5,000 0 5,000
02 SINBMAIEE 27,000 0 27,000
Ozplia SoAANARE B2 HE 12
MHIA 245 K2 27,000,0008 * 141 27,000 0 27,000
2 20,000 0 20,000
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Al 5,000 0 5,000
AMAZDAXNZMEH 25 L 2 9,000 0 9,000
401 AlIEHIZL 01| 9,000 0 9,000
01 Al&HI 9,000 0 9,000
OMSIHBMXIAEEH LHEIEI2IO
9,000,000& = 14! 9,000 0 9,000
HUX =ZorE (& - SAIIL LU X/ AT L XF2O0E) 2,406,026 1,642,200 763,826
= 160,000 0 160,000
| 70,000 70,000 0
< 497,917 434,917 63,000
Al 1,678,109 1,137,283 540,826
ORIt 2 SSHA 2,406,026 1,642,200 763,826
= 160,000 0 160,000
| 70,000 70,000 0
< 497,917 434,917 63,000
Al 1,678,109 1,137,283 540,826
OlIL4X erMzte| 245,570 126,064 119,506
201 LEt2 | 4,446 4,940 N494
01 AtR2teltl 4,446 4,940 ANA
OIMHSHE NS 271 2 (FazoH
Ar2t) 28 1,020& = 30004 306 800 ANA
402 BIZHR+E0| A 240,000 120,000 120,000
01 QIZERI2AISE SR (RERIAH ) 240,000 120,000 120,000
OAMBIESI JIIAANEEX] X (Bxs HNH)
Z2& 2,000,000 * 20AICH 40,000 20,000 20,000
OZMADENSE TADIA E2AE
Z23& 200,000,000 200,000 100,000 100,000
(SLPAEMEHIAZ S ALY 624,320 0 624,320
= 150,000 0 150,000
< 60,000 0 60,000
Al 414,320 0 414,320
402 QIZERHE0|A 624,320 0 624,320
= 150,000 0 150,000
o= 60,000 0 60,000
Al 414,320 0 414,320
02 QIZEXHE A B (0| M THS) 624,320 0 624,320
OsHELPGASEMEE A E2AIY
624,320,000& * 1A 624,320 0 624,320
= 150,000 0 150,000
o= 60,000 0 60,000
Al 414,320 0 414,320
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= 10,000 0 10,000
& 3,000 0 3,000
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Al 7,000 0 7,000
02 B 2SOICHEtAI=E 2 EFAL I 20,000 0 20,000
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200,000& = 1002t 20,000 0 20,000
= 10,000 0 10,000
= 3,000 0 3,000
Al 7,000 0 7,000
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Jl=adl 96,824 120,940 N24,116
JlE2&l 96,824 120,940 224,116
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01 3LHOALI 62,342 82,800 220,458
OLXelZML FRLFE GI(olarEZ) 62,342 82,800 ~20,458
—ZtHLHOi B Z& 44,064,000 44,064 57,600 13,536
— 224t Z2& 18,278,000& 18,278 25,200 26,922
Hests (LAl Z ) 36,637 0 36,637
(&r - SAIILLUIERI/ &Y - BAI|H U
RPN 36,637 0 36,637
SEXE 36,637 0 36,637
802 Bret=DIE 36,637 0 36,637
01 FNEXZLHEZ 30,414 0 30,414
020198 &= 30,414 0 30,414
—XNSAALSE dNEE KA
10,494,030& * 14 10,495 0 10,495
—XgardorEE dXeIEE KR AI(0IRH
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—F2HS HHTI=T A
19,010,420& = 14l 19,01 0 19,011
—FoIE OILAKI=XIAR (0IX))
625,930& * 14! 626 0 626
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